24.

Smwd agsrt Cean paT@HEsTa am@ml_'u_l'errgg,' G (B
ai@rand . 7,50,000&@ ssaudsmar swinisSpmt. eur Bl
wHmd per@are Gpeuperp Gereuomy LkSeRLIL] Q&mélgprrrr
Sjumenw auflég o ul L m@mnmg,a)ga; sanéE [Hs.

glluam & ‘smuS’ @ wEsse rr@ G&gu‘e_r,g}ma; (5rr(8&rr6ma)u_|rr&'.
Qegigdwig)) em. 5,000 _ :

LIC guigpfu 5 ap. 5,000

rreSeu smbd) SinevgTLeT ;61@ (- 15,000

GRS LsibL 8Ly FlE ep. 20,000 »

Qo widflufler aupl 8 Haumyant B 5. 50,000

geuanirene Gra, Hlavare] B . 22,600

Gamefler LigggILIMIIL Qg’,m_r‘rq B . 45,00'0‘

Apuranenioufier Cuobum’ @ par@arenL . 50,000

SamOLL Qursss spso G)J@a.lrru.l 5. . 2,00,000 wrengi LTCG
L6 @)enamTbglaTengy. .

Explain various Income Tax Authont1es along with their powers
and duties.

ueCGeum aigpomer el Ssrhsmearub Seuisatien aqﬁe;rrmmesm
HHID SLemtosamar alleuflss. ¢
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10.

11.

12.

SECTION A — (10 x 2 = 20 marks)
. Answer any TEN questions.

What is capital assets?
pgar QETSH) GreTDITed cTemen? -
What do you mean by indexed cost?
GO L SI_SSLD eTeTLISET 2 ) SHEE) LTS
What is TDS?
TDS erénmmed ereiren?
Give any two commercial securities.
aueflsl Geamutisedr gCsaib @rem®H Hhs.
What is set-off losses?
BLLtaisaner &l Qelige creampmra Grenen?
How to treat speculative losses?
2a15 auenflas b1 EISET eTeeuny enawmaTtIL(HEDE)?
Write short notes on 80G.
80G @iiss o @Hliy cuemns.
What is education cess?
Sadl eufl erasrmrrm GTeoTG?
Who is an Assessing Officer?
afloHUGG Sigae eremuau wmi?
What is belated return?
STOEISL G QI(HEUTII GTEMDHTE) GTaa?
Give any two types of assessments.
LR Csaib Qramh cumsasmars 5ms.
Expand SHEC.

bSHEC = Afleuré@s. -

Maximum : 75 marks
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SECTION B — (5 x.5 = 25 marks)

Answer any FIVE questions.

13. From the following details calculate capital gain.

14.

(a) Sale consideration of residential house Rs. 25,00,000 on
26-10-2015 [CII :1081] '

(b) Cost of acquisition of the house on 1-8-2005 is Rs. 7,02,000
[CII:497]

(¢) New residential house acquired on 27 February 2016 is
- Rs. 7,50,000.

L(.ﬂdTQJ@L}D SaaI0EMmaTs QETarT(h) WSO HFTLSMS Savrds(Hs.

(=) em eyumiy filyer elbumer wopLwer 26.10.2015 o6y
. 25,00,000 [CII :1081]

(<) 1.8.2005 ey e igen &8 efpliemer @erubd ep. 7,02,000
[CII:497]

(@) ydw Erullmiy el yer efpuemer aumeurds 2, Gugeufl 2016
Sjenm en. 7,50,000.

Mr. Barthalome furnishes the following details of his income.

Calculate income from other sources for the previous year.

(@ Rs. 25000 received as interest from Government securities.
Rs. 2,000 spent towards collection charges. ‘

(b) Dividend from an Indian company Rs. 40,000.

() Dividend from a Foreign company Rs. 15,000. '

(d) Family pension Rs. 12,000

. ursGombd SeumeLw eu@Lrad Qsmiurer  DemeuHd
gsausmer efsdpmit. Qgarn yem@ésTen SeumeaLw 9panf
QU(BHLOTEEIGEDETE ST (hs.

(=1) m. 25,000-6@ sl Gaearwhisar g eully GQupliu’Lg.
Sigen AL au@GedluLs s ewrb iefigsg) . 2,000

(=) ef @bHu ;_F;]g]@.lcon'b PTG LIBISTSTWILD ¢f. 40,000
(@) emQeualpr @ fipeuand epawrer LkiETSTLD @5. 15,000
(m)  ©bbu euapdlun g. 12,000
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23.

Smwd. Bellwm Sauisailen Geataumd ssaudsmers CQsram® eufl
AELLESG 21 UL L euheumenwd samsd Hs.

.
(1) sbuemd epeoworear QU(HLDITEITLD 4,50,000
() oS ( Qemgg apeionar eumidreD ;
aim-1- 1,42,000
i@ -2 (Qembg @qui@mLiy) (- 1,50,000
(8) earfls Qarub wHmd SBSTWILD :
cuanflad — X 1,40,000
cuanflst — Y (=) 56,000

auaflsb — Z (Qgm_idlulieremwo) wpmib
FFF&SLILILT BLLLD oSG am(2012-136 @mibal (-) 85,000
Qé;rraiw@au;ruul'_l_g)j .

(FF)  qpgeder gmunb :

GREW sTe wpsedlan HTLLD 90,000

GDEL st wpgeler BLL LD ' A ' (-) 40,000

Bet s psellean ey smuib ; 87,000
(2) dYpeuf cuensser : .

uf&EE &0 epoger Qeupid . 1;(50,000

GuL_Ig. GU(THLDTEHILD . 35,000

Ms. Varada submits her Gross Total Income for the previous
year as Rs. 7,50,000. She has contributed for the following fund,
donations ete. Calculate her taxable income.

IP;ayment towards Oriental Insurance Mediclaim [paid in cheque]
s. 5,000 — '

Pension fund for LIC Rs. 5,000

Rajiv Gandhi Foundation Rs. 15,000

Gujarat Earthquake Relief Fund Rs. 20,000

Prime Minister’s Drought Relief Fund: Rs.50,000
Jawaharlal Nehru Memorial Fund Rs. 22,000

Towards repair work for Temple Rs. 45,000 ;
Donation promoting minority comniunity Rs. 50,000

Her Gross Total Income includes an LTCG of Rs. 2,00,000.
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. 22,

()

(2ar)

(er)

(&)

(&)

Gurg Geope B Bsmer cul_iy. 5. 8,500

HS alfQLém apaorer LkisraTyb (g Qi Hmesend)

. 25,000

Fedav. AGLL  epaiomar UBISTSTLD (g Qeuaflpm @

Blmiaienid) em. 18,000

ufls L0 epowrar Qaupd . 35,000 (Bsy Qsrens

Qupci_g)

2BEGLTY GLuilmider o 6r aJrn_sms LOGOLD TGO sum_ma;g
Gsrens 5. 12,000. Hp. syer eurLens QupeugHars Qgwey
 Gsiigg t5- 3,500 Lopmid <iafigs eur_ens er. 5,000 A GLD.

From the following particulars of Ms. Julia calculate the taxable
income.

(a)
(b)

(©

(d)

(e)

Income from Salary

Income from House Property:

_House- 1

House -2 (Self-occupied)

Profits and Gains of Business:

-

Business — X

Business Y

Rs.
4,50,000

' 1,42,000
(=) 1,50,000

1,40,000
(-) 56,000

Business — Z (discontinued) and Unabsorbed

Loss C/F from AY 2012-13
Capital Gains :
Shdrt-term capital gain
Short-term capital loss
Long-term capital gain
Other Sources :

Winnings from Lotteries

Interest income

(-) 85,000
90,000
(=) 40,000

87,000

1,00,000
35,000
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15.

16.

17.

Ms. Mansi has her gross total income at Rs. 4,25,000 for the
previous year. She has contributed for the followmg Calculate
her taxable income,

(@) Municipal corporation for promotlon of family planning
Rs. 42,000. S

(b) M1nor1t'y community corporation Rs. 15,000
() National Children’s fund Rs. 5,000
(d) Africa Fund Rs. 10,000

Smwd. (o6 Seuiiseflen <y am@asTan angg,s; Fa (DB Q(BLOTETLD
. 4,25,000 45 o arergy. jeuit eﬁgpasa;swn_ unisefllLsemer Qelipm.
S aflég e L UL aimwrasms saradHs.

(1) perm_fufer gHbu sC_Griun@ (SLDLBUW@ B8 . 42,000

-

(=) Amurananiouler senus B . 15,000

(&) Csdu Gyhpossesmw HE . 5,000
(")  <i9REs B @. 10,000.

Bring out any five deductions u/s 80..

. W/s 80 ¢in & 2 eirer s flayser GG e QeauafEAsmentiia.

Mr. Sachin submits the following information for the previous
year. How will you adjust the losses shown by him?

Rs.
Income from salary (+) 50,000
Income from house property (=) 7,500
() 15,000

(+) 30,000

Business loss
Bank interest
. s6flan pposw parREsTar daurimmans soiAEAp.
ST ST UL L B L Seng § ereueury oM Qadeumii?
.
(+) 50,000

FLDLIGTLD APEOLDITET GU(HLOTGITLD

it () @&mgg) epaioman cuHLOTEILD () 7,500

cuenfla BHLL D - 15,000 _
eumId) auLlg (+) 30,000
3 60149/BVZ6A/BPF6C/
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18.

19.

20.

Explain various deductions available u/s 80 while assessing
individuals’ income.
ws 80 Wen safl pLMGES HevLssl Qupib LoGeuy sflaysemer efilaufl.
Explain the hierarchy of Income tax authorities. ‘
augponer aufl oifsmilsaian LagriiuL Headsmar aileud.
SECTION C — (8 x 10 = 30 marks)
Answer any THREE questions.

From the following calculate capital gains of Ms. Kalpana for the
current assessment year, if CII for 1993-94 is 244, 1997-98 is
331, 2005-06 is 497 and 2015-16 is 1081 respectively.

(a) Asset—jewellery

Year of Purchase 1993-94
Year of Sale i 2015-16
Cost of Acquisition Rs.1,50,000
Cost of Improvement in 1997-98 Rs. 46,000
Consideration received on sale Rs. 9,50,000
M) -‘ Asset - debentures .
Year of Purchase ~ 2005-06
Year of Sale : 2015-16 -
Cost of Acquisition Rs. 1,80,000
Sé]]ing expenses " Rs.5,000
Consideration received on sale Rs. 3,00,000

CII aperpGu 1993-944@ 244, 1997-984@ 331, 2005-065@ 497
wpm  2015-16&@ 1081 eap Howwld iaeimbaaeupans
Qaran® Hmwd. souam Seisellarn pLiiy WEHLETH paTHESTen
WP YFTLEDSE HMEE HS. : '
(1) Qengg&a6m - Bans HLIAD

Qamarapse Qas e[ 1993-94
puener Qauig e {H 2015-16
‘DsWsLHSSuSHsT CFwa, . 1,50,000
1997-98 & 5QsTsSlenm penGarhmd - 46,000
efpuear g Qupliu’ L wguwier 5.9,50,000 -
4 60149/BVZ6A/BPF6C/
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(=) QsrsgisaeaT-sLaf G LSST

Qsmétapsd Qaulis oy 2005-06
efpuener Q&S e[ 2015-16 * -
SIL&5 eflpuenar @erutb ] . .1,80,000
efpLenens QFaay . 5,000

| eflpuenar 18g QupLILIL L ODILILIGT . 3,0Q,OOO :

21. Calculate income from other sources from the following

information furnished by Mr. Karan for the current assessment
year.

(a) . Agricultural income from land situated in India Rs.15,000

() Agricultural income from land situated in Sri Lanka
Rs. 20,000

(¢) Interest on Post Office savings account Rs. 6,000

(d) Interest on Government Securities Rs. 8,000

‘(e) Interest on Public Provident Fund Rs. 8,500

(/) Dividend from HS Ltd [an Indian company] Rs. 25,000
(® Dividend from Swiss Ltd [a Foreign company] Rs. 18,000
(h) ‘Winning from Lottery Rs. 35,000 [Net amount received]

(1) Rent from sub-letting of a flat Rs: 12,000. Mr. Karan has
spent Rs. 3,500 for realizing rent and pays a rent of
Rs. 5,000.

1516&1@@[0 Aurrismerds Qarar® Hm. spamr Sjeuisefar BHLLi

wHUISH ar@ssar A ol aims aBLTASMS Samés (5.

(©) @bdHureded ~ mwhgear Hasder  epowrar  ofleugFTu
eu(pLomanid ep. 15,000

(=) ubeisreild é;mm;'r;gjeirm Hlogdlen - (_g)epmlrs&r efleugmu
au(pLomantd ¢h. 20,000

(@) <iEHFD ADIUDS (.g&LlS]L.JI_i samsdlen B Ten el iy ¢h 6,000

()  @ips Wenamrwib tSgmar auil-l. 5. 8,000 :
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